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Lecture No # 23
Dynamic System Modeling, Stability, Controller Design (Contd.)

Welcome back to this lecture series on foundation of cyber physical system. So if you
remember in the previous lecture we have been talking about how to analyze stability of closed-
loop transfer functions. So we will just continue from there.
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Stability Analysis from Closed Loop Transfer
function

* Let us consider the transfer function of a closed-loop system:
Cs)  Thgcs™
68) = 2= = St
R(s)  Licomss
* Conditions for Stability
* Necessary condition for stability:
= All coefficients of R(s) have the same sign.
* Necessary and sufficient condition for stability:
= All poles of R(s) reside in the left-half-plane (LHP)
R(s) # 0 for Re[s] 2 0
So let us say you have transfer function of this form a general form G(S) where you have the
output by input. This is given by polynomials representing the numerator and the denominator
like this. So the necessary condition for stability is that all coefficients of the denominator will
have the same sign. But look this is the necessary condition is not the sufficient condition. The
sufficient condition is that necessary and sufficient condition is that all poles that we get from
this denominator that R(S) they are all located on the left plane that is what we discussed that
the poles are located on the left of plane so if you have this satisfied then you have the system
as stable and we have also analyzed this based on this few examples of full pole positions and
all that.
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Stability Analysis

Necessary condition for stability

R(S) = 1ps™ + 18" M 418t 1 =1o(s +p) (S +2)... (5 + )
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-p; to -p, are the poles of the system

Therefore, given a system to be stable:

* Al poles of the system must have negative real parts.

* The coefficients of the polynomial should have the same sign.

Examples : RE) =+ +s+1 can be stable or unstable

Rs) = -s*+s+1 is unstable

So again repeating the necessary condition would be like this let us say this is your polynomial
here right. And from this polynomial if you just create the factor and you find out that well
what are the pole positions. These are all poles of the system and for the system to be stable all
these poles must have negative real parts and as you can see that for this to happen the necessary
condition is that the coefficients of the polynomials this coefficient are 0 to rn all this. They
must all have the same sign so example if you look at this all the coefficient of the same sign.
So this you satisfying the necessary condition so | can say that this is stable this can be stable

subjected to if we can also prove the sufficient quantity.

So this is because it satisfy the necessary condition all are having the same sign. But then you
have to compute the poles and check their positions to be confirmed and because you have to
check the sufficient condition. But if you see the next one you say here you do not even have
to check the sufficiency condition. That means you do not need to compute the pole position
and check whether all of them are on the left top of the s plane. Why? Because it does not even
satisfy the necessary condition which is that all the positions are having the same sign because
clearly you have some coefficients which are positive and some coefficients like the second
one which is negative so this definitely is unstable. So that is why here we are trying to say that
why the necessary condition is also helpful to prove that some system is unstable.
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How to compute system poles?

Roots of det(Al - 4)

Eigenvalues of system matrix A

Solution of system characteristics equation det(Al = A) = 0
©)

Roots of D(s) for the transfer function G(S) = ZF

+ Stable system: All poles with negative real part
+ Marginally stable system: One or multiple poles are on imaginary axis and all other poles have

negative real parts

+ Unstable system: Qne or more poles with positive real part.
-
u\\'d

So in general of LTI systems what we can do is suppose you have this representation of the
system in this X = x form so instead of transfer function if you have this representation but so
what you have is you have the system matrix A which is kind of giving you the evolution of
the system. Starting from its initial state x is 0. So what you can do is you can take A which
kind of represents the closed loop systems dynamics and you compute the Eigen values of the
system. The Eigen values of this Matrix is same as the poles of the system and you can just say
the whether the system is stable or not based on the nature of the solution without even solving
the system model. So again it will just be about the location of the pole.

So the way we compute Eigen value of a matrix is the standard method roots of determinant
Lambda | — A where 1 is the identify matrix. So if you compute the root for this polynomial
what you get is the Eigen values of this matrix A. So essentially they are the solutions of this
characteristic equation you get the determinant polynomial and you just I mean so you can just
set this thing to 0 and for the characteristic equation and then from that you can just compute
what are the Eigen values. So the roots that you compute from this characteristic equation they
are just the pole positions. So again the condition is same is just that you are starting from A
instead of the transfer functions representation here. So all the force must have the negative
real part and similarly you have conditions for the unstable and marginally stable systems.
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Stability Properties of a Linear System

Considering the linear system defined earlier, and for each eigenvalue A of A, suppose that m)
denotes the algebraic multiplicity of A and d, the geometric multiplicity of A,

We can conclude the following:
+ The system is asymptotically stable if and only if A s a stability matrix; i.e. every
eigenvalue of A has a negative real part.
+ The system is neutrally stable if and only if
+ Every eigenvalue of A has a nonpositive real part, and

+ At least one eigenvalue has a zero real part, and di = m; for every eigenvalue A with a
zero real part.

+ The system is unstable if and only if

+ Some eigenvalue of A has a positive real part, or There is an eigenvalue A with a zero 0
real part and d) < mj. by

Note: We will see how to design controller using pole placement method in lab class ‘ I ‘??
.
=4

If you are considering the linear system again and you have multiple Eigen values let us say

for each Eigen value lambda its algebraic multiplicity is m lambda and the geometric
multiplicity is d lambda. Then overall you can conclude this following that the system is
asymptotically stable means eventually with t con t approaching infinity the system must settle
down towards the reference. Of course for that the necessary and sufficient condition is for A
the Eigen values must have the negative real part and the system is neutrally stable if and only
for every Eigen value it has a non-positive real part. And at least one Eigen value as a 0 is real
part so this is the marginal stability situation and this multiplicity with algebraic and geometric
interpretations are same for every Eigen value with has a 0 real part.

So for those Eigen values which have a 0 real part for them these multiplicities must be same
and that is about atleast one. So basically it is saying that well at pole is located on the imaginary
axis and all the other poles are located on the, atleast one on the imaginary axis and all the
others on the left of plane in terms of explained representation. So basically is the same thing
but you are interpreting it in in a matrix formulization. And of course the system is unstable if
you have some Eigen value that is the positive real part. So that is how you can also can look
at it. So that is about how you can create a system model. It can be transfer function based
model it can be a state space representation with this matrices and from that you can conclude
by looking at this system matrix whether it is stable or unstable.
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Control Design: Continuous Domain

+We have alinear system given by the state-space model
1= Av+ Bu J’
y =0

+ For n-dimensional system Single-Input-Single-Output (SISO) systems

X=Xty
AERXRB €RX1,CETIXR
+ Objective ]
yoart-w
+Controlinputu="? o

Now suppose we find the system as unstable we want to do the controller design. So the idea
is you have this plant and you see that let us say you give an unit step or some response input
to this plant and output just wanders around. So overall you have an objective is let us say this
is the target reference with an input step you want the plan to settle down here following some
trajectory criteria in using and it must meet some settling time pattern. So you want a response
like this or maybe a response like this depending on what is your objective you may have a

specification that the maximum overshoot should be less than this.

The rise time should be less than some value this or the settling time should be less than some
value of this. So this may be your control design criteria and as you can see that just the plan
by itself does not meet any of this criteria and the plant by default maybe unstable. So what to
do? As we discussed that our key objective in this series of lectures in this week had been that
well for we will learn how to model plants mathematically and we will learn some simple
techniques of controller design so that when we out put the plant in loop with the controller
and derive an equivalent system out of this system is designed to satisfy this requirement. So
this is my requirement this is the plant so these are the 2 things given | must design this
controller so that the closed loop system satisfies this requirement. There is a problem here we

are talking about.

So consider that you have the linear system which is given like this. So this is the state equation
and this is the output equation where so you have let us say for n dimensional system you have
n dimensional vector of the state and you have the corresponding A B C matrices. And let us

say you have an objective that the output must settle down around some reference r with t



approaching infinity. The question is how do I design this control input u we are still talking

about continuous domain systems. So we will try to design continuous controllers.
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State feedback
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Open-loop system, i.e. withu = 0= % = Ax
Closed-loop system with state-feedback control: u = Kx + Fr

i= (A + BK)x + BFr
y=C(x

Here, r : reference, K : feedback gain, F : static feedforward gain
* How to design K?
* How to design F?
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So if you just take a flow diagram based view here so our system is going to look like this. So

you have A x + B u which should give you this X. If you integrate it that’s your x if you apply

the transformation C that is your output and it is apply this K on x what you get is this value K

and then you may have some feed forward gain F here on which the reference is acting. So here

you get K x here you get F r and from them you get the overall control signal so that is the

thing here. So the idea is when this loop is open you do not have this so all you have is a system

X = A x. So if the loop is open you just have this much happening here, there is no u.
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State feedback

Open-loop system, i.e. withu = 0= x = Ax

Closed-loop system with state-feedback control: u fh&

x= (A + BK)x + BFr
y = Cx

Here, r : reference, K : feedback gain, F : static feedforward gain

* How to design K?
* How to design F?



Now let us say we have we want to close this loop and we want to design this controller gain
K so that we meet those objectives that we talked about. So you will have this equation. So
earlier none of these things were here none of these things were here. So this was pretty much
your system that is why X was just nothing but A x that is was earlier. But now we are bringing
in all these additional stuff right here with the gain, feed forward etc.

(Refer Slide time: 11:24)

State feedback

r—{pHC

Open-loop system, i.e. withu = 0= % = Ax
Closed-loop system with state-feedback control: u = Kx + Fr
p sy: b

= (A + BK)x + BFr
y = Cx

Here, r : reference, K : feedback gain, F : static feedforward gain

* How to design K?
* How to design F?

So you want to stabilize this loop so that this response y is approaching the reference r we want
this to happen. So if you look at it X is if you just look at you have equations X is nothing but
A x coming like this and then you have x if you see A x + B u but as we saw that u is nothing
but Kx + Fr. SoB uif you see itis B K x + B F r and you have then X = A + B K multiplied
by x + B F r. So that is your dynamical equation and the output y is this C x. So the question is
how do | design this K and how do | design this feed forward gain F so that we have this
requirement satisfied that eventually the system output must stabilize around r we need to be
satisfied.
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Feedback Gain Design by Pole Placement

+ | the system considered is completely\state controllable/then poles of the closed-loop system
(Eigenvalues of A — BK) may be placetf at any desired locations by means of state feedback through an
appropriate state feedback gain matrix K.

+ Pole-Placement design technique begins with a determination of the desired closed-loop poles based on
the transient-response and/or frequency-response requirements, such as speed, damping ratio, or
bandwidth, as well as steady-state requirements.

+ We limit our discussion by assuming

* all state variables are measurable and are available for feedback, i.e. C = Iyyy, %,y € R™.
* the control signal u(t) and output signal y(t) to be scalars i.e. systems are single input single output
(SISO) and reference input r(t) is zero.
+ We demonstrate the following approaches that can be used to determine the gain matrix K to placr\
L A

poles at desired location.
* Direct Substitution Method.

* Ackermann’s formula. ig

So what we will now study is very well know the most simple way of controller design which
is designing this gain K by pole placement technique. So if the system considered is completely
state controllable. So we will understand what that means. Then what we need to do is we will
design the gain K in such a way that the Eigen values of the closed loop pole must be positioned
in a location so that the desired behaviour happens. So that is kind of our target so let us
understand what we are really trying to do here.

(Refer Slide Time: 13:17)

State feedback

Open-loop system, i.e. withu = 0= x = Ax
Closed-loop system with state-feedback control: u = Kx + Fr

x=(A + BK)x + BFr
B=Lx

Here, r : reference, K : feedback gain, F : static feedforward gain

* How to design K?

* How to design F?
So you see without this K and f you have this system dynamics defined by A but and that was
something | was unhappy with. So I am now bringing in this K and what should be K? And
what should be F is in my hand now let us say | have already designed K and F then the resulting

dynamics of the system as you can see would be given by this matrix A + B K or | mean



depending on how you look at it ideally you can I mean in most books what you will see is this
is negative and that isan A — B K.
(Refer Slide Time: 14:11)

State feedback
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Open-loop system, i.e. withu = 0= x = Ax
Closed-loop system with state-feedback control: u =-Kx + Fr %
=(A ;{rBK)x + BFr A Bk

y= Cx
Here, r : reference, K : feedback gain, F : static feedforward gain o
* How to design K? @

* How to design F?

So and actually let us just go by standard convention. So this is —K f + F r this is, so the point
| was trying to make is for the open loop the dynamics is dictated by A for the closed loop the
dynamics is dictated by A — B K. The trick in this entire situation is you design K in such a
way that for the matrix A — B K you should have the poles located at suitable positions so that
you get the desired behaviour. So let us say for A which was just given to you which is the
unknown plan you may have poles located here let us say here one here etc., and that we giving
you some bad behaviour. But now you have an opportunity to modify the closed loop by
bringing in K. When you bring in K the closed loop equation is the closed loop matrix is this.

This is what is deciding how the system will behave.

So you have an opportunity to design case such that your eventual matrix becomes such that
its Eigen values such that the corresponding poles are located at some good positions. Good
positions means some positions which satisfies your requirement. So that is the simplest story
of pole plus man based control design. So what you do is you decide where you want to place
the poles because you know that if the closed loop systems poles are here and then the output
behaviour will be nice and that is what | want. So let us figure out what K should be so that for
this A — B K the poles are located here and here that all we are doing in pole replacement based
controller design nothing else.
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Feedback Gain Design by Pole Placement

+ |fthe system considered is completely state controllable, then poles of the closed-loop system
(Eigenvalues of A — BK) may be placed at any desired locations by means of state feedback through an
appropriate state feedback gain matrix K.

+ Pole-Placement design technique begins with a determination of the desired Elosed-loop poles based on
the transient-response and/or frequency-response requirements, such as speed, damping ratio, or
bandwidth, as well as steady-state requirements.

+ We limit our discussion by assuming
+ all state variables are measurable and are available for feedback, i.e. C = Iy, X,y € R™.
+ the control signal u(t) and output signal y(t) to be scalars i.e. systems are single input single output
(SIS0) and reference input r(t) is zero.

poles at desired location.
+ Direct Substitution Method.

* Ackermann’s formula. ‘5‘ i

So let us continue with this intuition so the target is to set K so that you get the Eigen values of

+ We demonstrate the following approaches that can be used to determine the gain matrix K to placa

A —B K located as you want them to be. So this technique begins with the determination of the
desired close-loop poles based on the transient response and or the frequency response such as
damping ratio, speed etc. So you are given some requirement let us say somebody that you
have been told that well you must design the gain K in such a way that the closed loop response
should satisfy this rise time this settling time this maximum overshoot etc., So from those things
you can have an estimate that well if | place the poles here and here this things I will satisfy
then all you do is you bring in the mathematical machinery which will ensure that A — B K

Eigen values are located precisely at those positions.

So here in this case we limit our discussion we consider that all states are measureable and they
are available for feedback which will just make C as a identity matrix here. So that | mean
essentially we are saying that this is the full state feedback system all the x outputs are available
for K to operate on. We will soon see in our later lectures that this not what we get in principle
and from the output we need to get the estimate of state but we will cover those complex things
later on. So for many situations we can also have full state feedback and we just work with it
and we can also make one simplistic assumption in certain cases that will the reference input
is 0. I mean it may depend or | mean whether | want to design that feed forward gain or if | do

not want to design that feed forward gain.

Now we will also see that well how the expression for the feed forward gain can come. So the
control signal and the output for the simplicity we consider these to be scalars and the systems
are single input single output system and the reference is 0. And we will demonstrate the



following approaches for determining this gain matrix K let, one is called the direct substitution
method and other is called the Ackerman’s formula.

(Refer Slide Time: 18:24)

Feedback Gain Design : Direct Substitution

Steps:

1. Check the state controllability of the system.
Cr =[BAB A*B ..A"'B]

2. Define the Feedback Gainas K = [k k; k ..k
A

3. Equate |sI_— A + BK| with the desired characteristic equation depending on the
desired poles to place
(s=2)(=2y) .(s=2y) =s"+ays" 1+ . +a,

—_—

S

So for direct substitution what you do is you first check this thing what this matrix and look at
this state controllability matrix and check its rank. What does this check tell you? It tells that
well if this controllability condition is satisfied then | have a guarantee that system is
controllable that means it is indeed possible to design a controller which should ensure that in
the close-loop the plant and controller combination will be steered eventually we will
eventually steered the system in the desired trajectory. And then once this check is done you
define the feedback gain using this unknown so your objective is to figure out what are these
unknowns and then what you will do is? Well you have already identified what are the desired
positions where | am going to put the poles now based on those desired positions you can write

this characteristic equation.

Let us say | have decided that well the poles should be at positions lambda 1, lambda 2, lambda
n like that then that means for the target system in the closed loop when | have write the transfer
function the denominator of the transfer function basically the desired characteristic equation
should be same as this left hand side. And we have this thing we have this unknown gain value
now putting those unknown gain values here if we take this determinant we can generate this
characteristic equation like this. So this is what | want to happen and this is what | have with
sub unknowns, so that is how we will proceed down. So just a bit on controllability we will
talk about that first place proceed offer this with an example here.
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Example: Direct Substitution

X 0 1 07[*] [0
iz] = [ 0 0 1 ] [xz + H u(t), u(t) = -Kx(t)
X3 -1 -5 —6llx] l1

Desired closed-loop Poles : ; = =2 + j4,1;, = =2 — j4,A3 = -1

System :

* Stepl-
First we need to check the controllability of the system :
0 0 1
Cr=[BABA%B ..A™'B]=10 1 —6] = rank(Cr) = 3 = rank(A)
1 -6 31

.... Hence the pole-placement is possible

¢ Step2-
Let, K= [kl kz k3 ]

= |sI-A+BK| = [y Kz k3]

s 00 0 1 0 0
[0 s 0]—[0 0 1 +I0
0 0 s -1 -5 -6 1
=534+ (6+ks)s*+(5+ky)s+1+k,

So let us say this is your system. So you have A B given to you and you are generating a single
input single output. So u is — K x let us say for this you have the desired pole position at lambda
1, lambda 2 and lambda 3 and the first thing you do is you check the controllability that means
you generate this matrix you know what is A and what is B. So from n the dimension of the
system is n = 3. So using these values of B A and N you can create this matrix C T and you can
check whether the rank of this thing is equal to the dimension of the system. So you can check
if the rank of the matrix is equal to 3 which is true then we will say that well the pole placement
is indeed possible. Now let us go about doing this things that means equating the characteristic
equation with the desired one. So first we have assumed these unknowns K 1, K 2, K 3 to
comprise the controller K so with this K which is unknown | can write this determinant right s
| — x + B K by the way what is this?

(Refer Slide Time: 21:33)

State feedback
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Open-loop system, i.e. withu = 0= x = Ax
Closed-loop system with state-feedback control: u = *Kx + Fr A
x= x + BFr
y = Cx

Here, r : reference, K : feedback gain, F : static feedforward gain
* How to design K?
* How to design F?



All we are doing is so as we discussed right this is your system and for this system like we said

this is the closed loop matrix which is governing the system. So | want to figure out its Eigen

values and Eigen values would be nothing but.
(Refer Slide Time: 21:59)
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Example: Direct Substitution
X 0

0 1 0]
X
X3 <1 I O

0 0 1
Desired closed-loop Poles /4, = =2 + j, 4 = -2 - j4, Ay = -1

-1 =5 -6
v Stepl- ﬁ /

First we need to check the controllability of the system :
00 1
Cr=[BABA’B ..A"'B) = [0 1 -6
1 -6 31
... Hence the pole-placement is possible

0

+ [0 u(t), u(t) =-Kx(t)

System :

= rank(Cy) = 3 = rank(4)

v Step2-
N LE(,K=[k1 kz k;] @ \y 9 K

a0 oM 4
2[sT-A+BKI=l0 s 0|-|0 0 1|+|0[[kik;ks]
ﬁ 00 sl -1 -5 -6l It
=534 (6+ks)s?+ (G+k)s+ 14k
bl i

L - h+8k|

|

So if you remember for A matrix A Eigen values were given by this solutions to the

characteristic equation of this thing right. I mean s I — A now in place of that you have A — B

K. So for that you have to compute s | — A + B K you want to see well what are the roots of

this polynomial. So to compute the roots of this polynomial you have to create the

corresponding equation and set it to 0. So that is what you do you take the determinant over

this here and see what is the corresponding characteristic polynomial here. So s | becomes this

and —A + B and this is your unknown k so this is going to lead you to this kind of a characteristic

equation corresponding to this closed loop A — B K matrix this closed matrix. And you want

to know what are the roots of this equation so and what you really want is the roots must be

this and this is what you want.
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Example: Direct Substitution

B84+ (64ky)st 45+ k)s + 14k = (s=A)(5=4) (5= &)
=% 4 14s% 4 60 + 200
3 14=(6+ky) 3k =8,
60=5+k2:>k2=55,
and  200=1+k =k =199

.. Hence the gain designed to place the poles of the closed loop systems at the desired
location using the Direct Substitution Method is K = [199 55 8

So your desire that this characteristic equation have root as follows can be easily achieved. So
all you do is well if these are the roots then they together can give me this characteristic
equation which is s — lambda 1 s — lambda s — Lambda 3 and this must be equal to the left hand
side which is the characteristic equation derived from s | — A + B K. And so they must be equal
and if they have to be equal the coefficients of different polynomial terms in S they must be
same they must be equated. So Q coefficient must be here like this right. So for example if you
see you must have 14 equal to the coefficient of S square because here 14 is the coefficient of
S square here. So 6 + k 3 is 14 similarly s coefficient is 60 that is equal to 5 + k 2.So from this
you can solve and get k 3 =8, k 2 =55 and k 1 equal to something. So essentially what you are
getting is you have a system of equations with the number of equations same as the number of
variable. And that would give you a unique solution and that would give you these values of k

1 and k 2 and k 3 which gives you essentially the controller.

So the gain does designed to place the poles of the closed loop at the desired location are now
computed by equating this characteristic equation of A — B K and its coefficient with the
characteristics equation coefficients of the desired closed-loop pole positions and the resulting
target denominator of the transfer function. So it is very simple as we can see just to summarize
all we did was we are thinking of this target system A — B K right and for this target system we
created the symbolic characteristic equation here and for this symbolic characteristic equation
we equated that with the form we desire it to be in which was this. And then we just equated
coefficients and from these coefficients we calculated what should be the control gain values.
So that about it.
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Feedback Gain Design : Ackermann’s Formula

* Steps:
1. Check the controllability and choose the desired closed-loop poles at

[y A3y

2, Using Ackermann’s formula we get:
K=-[00..1]yH(4)
y=[BABA’B ..A"'B]

H(A) = (A-A1)(A-A])...(A - &y])

L]

3. Poles of (A+BK) are at [A; 45 A3 .4, ]

So that is all about the way in which you do direct substitution and there is also another
technique which is basically the same one but it kind of tells you how to do it you using just
matrix multiplication standard formula. So the first step is same. So you check the
controllability using the similar idea that we give and you choose the desired closed loop poles
as these locations like we have discussed here. And then you just apply this Ackerman’s
formula now what is the formula it says that well K equal to minus of this all zeros then one
then you have this gamma inverse times H(A) whereas gamma is nothing but this matrix. Well
A B are all given to you and you know the dimension and H(A) is nothing but this matrix. So
that is it so essentially this is like automating the previous method. So all you are doing is you
are given this lambda right you know A, B and dimension. So you just use this formula and
from this formula you will directly get the pole position.
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Example: Ackermann’s Formula

Xy 0 1 07[*] [0
System:| X2 |7 |0 0 1 |[%|+|0] u(t), ult) = -Kx(t)
) -1 -5 -6llxl Lt

Desired closed-loop Poles : A, = =2 + j4, A, = =2 = j4, A3 = =1

+ Stepl-
First we need to check the controllability of the system :
0 0 1
y=[BABA*B ..A"'B] = [0 1 -6
1 -6 31
... Hence the pole-placement is possible

= rank(y) = 3 = rank(A)




So let us say an example. Suppose this is your system and this is target value of lambda 1,
lambda 2 and lambda 3. And well first you do the controllability checks like we discussed and
see that the rank is equal to the dimension.

(Refer Slide Time: 27:27)

Example: Direct Substitution

H(A) = (A= A D) (A = Ayl) (A= Agl) = A3 + 14A% + 60A + 2001

199 55 8
=|—8 159 7] ’
-7 =% 117
00 17199 55 8
2K=[001]]0 1 -el [-8 159 7]
1 -6 31 -7 -3¢ 117

= K =[199 55 8]

.. Hence the gain designed to place the poles of the closed loop systems at the desired
location using Ackermann’s Formula is K = [199 55 8]

Hence this is indeed possible to design the controller you compute H(A) here and the gamma
value is already this one that we have. So H(A) is based on this A and lambda so you get this
equation and then K is nothing but this matrix then is followed by gamma inverse and then
H(A). So it is essentially automating that entire process of that substitution and you directly get
K. So that tells you that well what should be the pole position and you can see that they are
matching. So of course some of these examples has been taken from well known lectures and
slides available.

(Refer Slide Time: 28:06)

Static Feedforward Gain

¥ f
u=Kx+Fr ‘(t *G )
K: pole placement; F: static feedforward gains are calculated as follows: » )( (b) oF A")
/ ] k ”
k= (A+ BK) ¥ BFr ,,)(»1 = 9
y=Cx i :
- X(s) = (s = A— BK)"'BFR(s)
= Y(s) = CX(s) =C(s] -A - BK)~'BFR(s)
20y = @ =((sI-A-BK)'BF
R(s) £ i—

F should be chosen such that y(t) :@t -0 =
) o e 1
Using final value theorem: sh_p; sY(s)=r;F= s A)
/ Y (
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So fine and now consider situation where your r is not 0 and you indeed require to design that
feed forward gain F. So | mean let us say so this equation is U = K x + F r so your equation X
is this y equal to this. And you can just solve and figure out what r should be. So let us see what
should be if you take Laplace transform here let us see what you get. So you have X s from this
it is easy to deduct this things because of course this should give you s X(s) - A — K - B K X(s).
If you take this comma s | — A — B this sign really does not matter it depends on how you are
modeling the K if you take u = - K x in your initial model just proceed accordingly so do not
really worry about this. In our previous example for example in our previous derivation we
took that minus because in most books you will see that is the standard that is followed but is

just a modeling issue.

So that this is it so once you know that whether the transform is this then then you can just
apply s I — A — B k inverse on both sides to get to this line. So once this is the case you know
X then you can just see what is Y. Y is C of X s so that is just this line. So c timess | - A - B
k inverse and then you have the B F R(s) because B and s are going to be constant and R is a
function of s here. So in general | can say for the closed loop is just the Y by R the output by
the reference input. So that function is this. Now the question is how do I choose F you must
choose F in such a way that Y which is a function of time it must approach some constant r.
The reference with t trending to infinity so you can apply final value theorem here we should
tell you that well this limit is nothing but r.

So you already seen this is your expression of Y (s) if you apply this limit it will be and if you
equate it to r right. So then eventually what you will get is and r is if you say r as one here so |
mean of course this should be equal to r then Y by R from that by using this theorem you can
generate F to be equal to this thing here. So you see this form remains that is what you have
here and then if you apply the final value theorem you eventually get A f of this form. So in
case you really have the reference because if you remember when we did the earlier part so we
consider the reference is 0 but of course it is possible that you have a reference signal and in
that case you will need this feed forward gain and the way you can design this feed forward
gain would be to use this formula like here. So with this we will end the lecture here. Thank

you.



